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Hh 15 HH 4H 5H 6H 7H 8H 9H 104 114 124 1A 2A 3H p4Fs
bt
70dB (8] 531 582 520 519 355 544 407 385 519 445 491 456| 5,754
80dB+ ([]) 136 143 70 99 63 40 86 65 98 41 78 69 988
90dB+4 ([]) 3 2 3 0 0 0 0 0 1 0 1 0 10
SRR
100dB~ ([=]) 0 0 0 0 0 0 0 0 0 0 0 0 0
AEF(E) 670 727 593 618 418 584 493 450 618 486 570 525 6,752
fic & (dB) 93.7| 97.3| 96.4| 84.9| 84.4| 87.7| 87.8 84.7| 93.1 85.4| 94.5| 85.9] 97.3
1
&
A THE 44 5H 64 TH 8H 9H 10H 11H 12H 1H 2H 3H ek
oS
70dB % ([7]) 547 593 434 382 252 413 386 372 455 396 501 421| 5,152
80dB% ([]) 22 24 15 8 7 6 22 14 29 10 12 11 180
90dB ([]) 0 0 2 0 0 0 0 0 2 0 1 1 6
INE
100dB~ ([]) 0 0 0 0 0 1 0 0 0 0 0 0 1
&k (E) 569 617 451 390 259 420 408 386 486 406 514 433| 5,339
B &% (dB) 85.4| 88.5| 94.3| 84.8] 82.2| 100.9| 84.4| 84.3| 97.2| 82.2| 9.5 98.0[ 100.9
& A
iR HH 1A 5H 64 TH 8AH 9A 10H 11H 125 1A 2H 3H prdzs
iy
70dB (|a]) 438 508 431 462 310 423 374 326 463 374 475 401| 4,985
80dB+ ([f]) 66 67 38 33 15 18 51 23 62 15 47 23 458
90dB+ ([f]) 0 0 1 0 0 2 1 0 9 1 3 0 17
#&m
100dB~ ([=]) 0 1 1 0 0 0 0 0 0 0 1 1 4
(G 504 576 471 495 325 443 426 349 534 390 526 425| 5,464
i (dB) 84.7| 100.1| 104.3| 82.8] 83.1 93.8| 92.8] 87.3] 98.2| 99.0| 106.1| 102.4| 106.1
a8
st THH 44 5H 64 7H 8H 9H 10H 11H 12H 1H 2H 3H kS
oS
70dB% ([7]) 499 561 442 472 323 414 362 361 447 341 382 460| 5,064
80dB ([]) 100 103 60 52 57 39 85 64 98 51 54 79 842
90dB & ([=]) 1 3 2 0 0 0 0 0 5 0 1 1 13
H&FR
100dB~ ([]) 0 0 0 0 0 0 0 0 0 0 0 0 0
&k () 600 667 504 524 380 453 447 425 550 392 437 540 5,919
I (dB) 91.2| 99.2| 94.6| 84.8] 84.4| 84.4| 87.8 86.7| 93.5| 89.2| 94.0[ 91.6] 99.2
& &
1S H A 41 54 65 7H 85 9H 104 114 121 14 25 34 %
I 3
70dBH (5] 414 469 481 483 381 463 377 355 427 415 431 395 5,091
80dB & ([=]) 181 231 188 131 93 174 194 191 262 217 284 258| 2,404
90dB+ ([f]) 8 13 7 1 2 4 8 0 15 1 4 3 66
100dB~ ([=]) 9 17 8 0 0 0 1 2 1 0 1 1 40
() 612 730 684 615 476 641 580 548 705 633 720 657 7,601
Fe 1 (dB) 107.4| 110.8[ 104.9|  90.4| 93.4| 93.5| 105.6/ 101.8] 100.3] 99.7| 102.7| 100.0| 110.8
& F
AL HH 1A 5H 64 7H 8H 9H 10H 11H 12H 1H 2H 3H ek
b dih
70dB (=) 690 816 732 724 561 722 614 539 704 589 673 677| 8,041
80dBE ([]) 119 121 115 94 69 42 70 65 87 62 94 58 996
| | 90dBE (ED) 10 19 12 0 1 1 8 0 21 0 4 5 81
=]
() 100dB~ ([]) 8 10 2 0 0 0 0 0 9 1 0 1 31
A& () 827 966 861 818 631 765 692 604 821 652 771 741 9,149
e (dB) 105.3| 104.7| 101.7| 87.2[ 90.9] 90.9] 99.1 89.3| 105.9| 100.4| 98.7| 100.7| 105.9
&
AL THH 4H 54 6 A 8H 9H 104 114 121 1H 2H 3A X%
s
70dB5 (=) 773 857 776 494 630 750 586 676 595 828 741 797 8,503
80dB % ([]) 175 190 110 51 75 130 57 137 161 168 169 160| 1,583
=) 90dB+ ([fl) 6 6 2 0 0 4 6 3 16 2 2 3 50
100dB~ ([=]) 0 0 0 0 0 0 0 0 0 0 0 0 0
e R(E)] 954| 1,053 888 545 705 884 649 816 772 998 912 960| 10,136
B35 (dB) 97.4| 96.7| 95.1 89.6| 88.2| 91.5| 98.6] 99.5| 95.3] 91.2| 99.5| 91.6] 99.5
Ery =
i H an | sn | en | 78 | sm | on [wom | um | wen | 1m | 28 | 35 | o
AR 13 20 21 15 8 16 20 15 21 17 19 28 213
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